
Year 5 Homework A – 26th April 2024

Multiplication

Reasoning

Area

3 x 4 = .

8 x 2 = .

7 x 9 = .

12 x 12 = .

7 x 7 = .

0 x 4 = .

9 x 8 = .

5 x 6 = .

96 ÷ 12 = .

42 ÷ 7 = .

21 ÷ 3 = .

657 ÷ 1 = .

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!

Number Circle the shapes that have the same perimeter.

Miss Parker says:
“The perimeter of this shape is 78m.”
Is she correct? Explain your answer. 

Write the time shown on each digital clock and 
draw the hands on the analogue clock. 

Time

1. Use <,> or = to compare the area of these rectangles:
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